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After you answer the question above, also state whether these are INDEPENDENT or DEPENDENT events. EXPLAIN!
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Also, are these events INDEPENDENT or DEPENDENT? Why?
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You can use T for “public transportation” and C for “lives in the city”.
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The two-way frequency table shows data for 80 randomly selected people who live in a
metropolitan area. Is the event that a person prefers public transportation independent
of the event that a person lives in the city?

PreferstoDrive | freiers FUBC | Total
Lives in the City 12 24 36
Lives in the Suburbs 33 n 44
Total 45 35 80
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The two-way frequency table shows data for 120 randomly selected people who take
vacations. Is the event that a person prefers vacationing out of state independent of the
event that a person is a woman?

Prefers Vacationing | Prefers Vacationing

Out of State in State Total
Men 48 32 80
Women 24 16 40

Total 72 48 120
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The manager of a produce stand wants to find out whether there is a connection
between people who buy fresh vegetables and people who buy fresh fruit. The
manager collects data on 200 randomly chosen shoppers, as shown in the two-way
frequency table. Determine whether buying fresh vegetables and buying fresh fruit are
independent events.

Bought Vegetables | No Vegetables Total

Bought Fruit 56 20 76

No Fruit 49 75 124
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You spin the spinner shown two times. What is the probability that the

spinner stops on an even number on the first spin, followed by an odd.
number on the second spin? A A
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The two-way frequency table shows data for 60 randomly selected children at an elementary
school. Determine whether a child who knows how to ride a bike and a child who knows
how to swim are independent events.

Knowshowto | DoesntKnowhow | .,
Ride a Bike to Ride a Bike
Knows how to Swim 30 10 40
Doesn’t Know how to Swim 15 5 20
Total a5 15 60

Let B be the event a child knows how to ride a bike. Let S be the event that a child knows how to swim.
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Your Turn

The two-way frequency table gives data about 200 randomly selected apartments in a
city. Use the table to answer the question.

1 Bedroom Be dﬁ_om g Total
Single Occupant 64 12 76
Multiple Occupants 26 98 124
Total 90 110 200

3. Is the event that an apartment has a single occupant independent of the event that an apartment has
1 bedroom?
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Beverages Jeffrey's mother has 10 orange juice boxes, 7 grape juice boxes,
and 3 lemonade juice boxes in the cooler for Jeffrey and his friends. Jeffrey
randomly takes a juice box from the cooler, then randomly chooses another

juice box without replacing the first. Find the probability that both juice boxes
are grape.
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‘The psychology department at a college collects data about whether there is a
relationship between a student’ intended career and the student’ like o dislike
for solving puzzles. The two-way frequency table shows the collected data for
80 randomly chosen students. Determine whether planning for a career in a field
involving math or science and a like for solving puzzes are independent events.

PlansaCareerina | planiaCareerina |
Math/Science Field ath/s
Likes Solving Puzzles 35 15 S0
Dislikes Solving Puzzles 3 2 30
Total 44 36 80

Let MS be the event that a student plans a career in a math/science field. Let L be
the event that a student likes solving puzzles.
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Alocal television station surveys some of its viewers to determine the primary
reason they watch the station. The two-way frequency table gives the survey data.
Determine whether a viewer is a man and a viewer primarily watches the station for

entertainment are independent events.

Primarily Watches for | Primarily Watches
Information (News, | for Entertainment | Total
Weather, Sports) | (Comedies, Dramas)

Men 2 2 40

‘Women 35 15 50

Total 63 27 90

Let M be the event that a viewer is a man. Let E be the event that a viewer

primarily watches the station for entertainment.





